B

14,

i5

27

30,

Section-1
GROUP—-"A"

Confiparation of an TART in senal communication has
1. elock signal b. bauwd rite, stop bit; data length e bath d nonse

Deadiock happens when two processes wanmg for the resources used by each other; m this condihon
& both processes know that they are waiting for each other

b. one process knows that other is waiting

c. bothaandb

d. nane

Physical memary location in nunning program is resolved by

a. linker b. compiler c. loader d none
Task suaching is switching between
2, pIOCesses b. threads €. COnCUETEnt Part N Samie PrOgmAm d ali

In 2-pass compiler

2. identifler cian be wied withowt its declaration

b. identifter should be declared before ns first wee
<. both

d none

Thie differends berween functional srdinary SDLC and object-onented SDLC i
3, functional SDLC, the development tame i more than design tane

b, = object onented SDLC, design time ismore than development tume

c. both

d. none

Which of the followmg 15 not 2 bus-interface for a micropracessor”
a:18A b AGP c. FCI d.ICE

Which of the fellowing staternents is true for structureT
A, @ stracturs cany contain a pomier to iwself

b structure can be compared

¢, bath

d none

Which 18 not defined as codd’s nale of RDBME?

2. cormnprehendive data sublangiage nie b vrewupdates
¢, phyacal data dependency d. integmy dependency
. Encyprion means
o text to cipher b cipher to text c.both d mone
. In macro-processor, over clockmg wall result m
2. overheating b. malfunctionng c. both d. mone
Cachéis
a ROAL b RAM . PROM d EFROM
Unix o5 implemients two types of pipes, one &5 formatted and the otheris
a.Tow fevel pipes b. hagh level pipes . middbe Teve] pipes d. mone
Whach of the folloving remams m mermory temporanky
a. Resident portion of COMMAND COM b, Transient portion of COMMAND COM
© APl d. Disk BIOS
If the time quantum s too large, Eound Robin scheduling degenerates to
2. Shontest Job Firnt Scheduling b, Mubtdevel Queus Scheduling
<. FCFS d. Nome of the above
. Transponders are used for which of the following parposes?
a. Uplinking b. Dawnlkinking ¢. Both {a) and (b) d None of the abave
. The forman speaifier "2d"” is used for which purpose m C?
2. Left justifying a strmg b. Right justifying 2 strmg
¢. Removing & sting from the console d. Used for the scope specification of a char(] variable
. Virtual fumctions allow vouto

a_ Create an amay of type pointer-to-base-clazs that can held poimters to derived  classes
b. Create functions that have no bady

c. Group objects of different classes so they can all be accessed by the same function code
d Use the same function call to execute member functions to objects from different classes

A zerting algorithm which can prove to be a best time alzorthm in one case
and a worst time alponthem in worst case s
a. Chock Sont b. Heap Son c. Merge Sort d  Ingert Sont

. Banker's algonthem for resource allocation deals with

a_ Deadiock prevention b. Deadlock avoidance ¢ Deadlock recovery d None of these

. Which of the follovwing communications hries i best suted 1o interactive processng apphcations?

3. Namowhand channels b. Samplex channels . Full-duplex channels  d Mixedband channels

. What is the main funection of & data Bk content momtor?

2. To detect problems in protocols

b. To detenmane the type of transmussion used in 2 data bnk
c. To determane the type of switching used m a data nk

d To detenmime the flow of data

Which of the follovang memones has the chostest access tame?
2. Caché memory b. Magnetic bubble memory ¢. Magnetic core memory d. RAM

. In which of the following page replacement policies, Balady's anomaly occurs?

a. FIFO b LRD c. LFU d. NEU

. After execution of CMP, 2 mstruction m Intel 8085 microprocessor

& ZF is set and CY is reset. b ZF 1z set CY is unchanged
c. ZF isreset, CY is set d. ZF Is reset, CY is unchanged

In a centam society, there are two marmage groups, ted and brown. Ne mamage i permatted within 2 group. On mamage, males become pant oftheir wives groups; women
remam i thexr own group. Chifdren belong to the s3me group a5 thew parents. Widowers and divorced males revert to the grougp of thew bath. Mamage to more than one person
at the same time and mamage to a dwect descendant are forbidden

A male bom mto the brovwn group may have

2. An unicle m either group b. A brown daughter

¢. Abrown son d A sonanlawbom into red group

A parallel plate air-filled capacitor has plate area of ™ m® and plate separation of 107 m. It is connected to 2 0.3 V, 3.6 GHz source. The magnitude of the displacement cumment
it (& =136p x 107 F'm)

2. 10ma b 100 ma cInA d 150 A

The phase velocity of an electromagnetic wave propagating i 2 hellow metalic rectangular wavegmide in the TE; mode is
. equal to its group velocity b, less than the velooty of Bght m free space

c. equal to the velocity of bght in free space d. greater than the velocity of light in free space

Neaze with umferm power spectral denaty of MW/ Hz 15 passed through 2 filter H () = 2 expiyoty) followed by an ideal bow pass filer of bandwadth BEHz, The output nose
power in Wattsis
A IN;B b 4AN:B c.el:H d. 16 4,8

The cascade amphfier is 3 muln-stage configuration of
1. CCCE b CECE ¢ CB-CC d CECC
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L. For a cantflever beam with unaformly varying lead, shape of bending moment curve bs
A parabobc b hyperbolic . straight boe d. cubic

2. For 1mt order lever, mechanical advantags is
a.<l b. =1 c.o=1 d nene

3. The negative resistance charactenstic is exhabited by
a.Thode b Tnode ¢, Temode

4, Thermal efficiency of IC engmes will he
a.20-25% b 30359 ¢ 60-T5% d45- Fi%a,

When a mass is supponied by a sping of constant k, which is cut in 4 equal pieces and conmected in parallel way, the equivalen
EpTirEg constant is

aykid by 16k )64k dradk

Mass production of belts and nvets is by
@ hot extrasion b: forging c.cold heading 4 cold peening

Mlertury doesn't stick to glass tube becawss
3. coheave forceradhesive force b cohesve force<adhesnve force
¢ cohesive force= adhesve force d.none of the above

. Euler’s forrula is used for cobomn of lengh
CE0 b =B0 . 280 d =110

1f a body weaghmg 40 kg floats m water with 40% of vohome unmersed, the sp. gravaty of the body 15
1 b0 025 d none

. If center distaniee of an ivvohses mating gear changes then the pressrs angls
a mereases b, decreases ¢ remaing unaltered d nenther of them

MNormalisng is

a_heated above cotical temp and cooled in air
b_heated abowve entical temp and quenched in eil
. heated below entical temp and cooled in air

d none of these

The best suited materal for permanent agnet is
& Almice b sificon . Copper d_ rmald sesd

Heoke's joint 15 used for
2. parallel and mtersecting shafis b. non-paraliel non-mtersecting
. non-parallel and mtersecting d. parallel and nop-mtersecting

Which of the following is 4 loose ninning fit?
a hifs b. hfed ¢ hids d none of these

Specific speed m a twrbo machine depends.on
a. peometric shape  b.osize ¢ head d all of these

. Unit of surface roughness is
2. mbeTon b PPAL . mm? d meter

7. Mohr's circle 15 used to find
a. principle stress b resuliant of ANS ¢ prncipal pmain - d none

Which ene i the followmg has l=ss carbon contem?
a.toolstes] bosprmgsteel © carbumsmgsteel d. forging steel

Spheroidismg 15 a process of
2. annealng b. normalsing . temnpering . case hardening

What type of thread 13 used m lead screw of 2 lathe
a. acme thread bV cosquare d. buttress

- Wear allowance of a go nogo end phig pauge is given for
2 po end b, noge end c. bath

Heming bone gears are used when it is pequired that a/'an
& axial thinet it transrnitted b radial thrust is transmitted
. torgque 18 wansmitted. d Mone ofthe above

In ball beanmgs, cage ts used to
a. maimtam the ball position &) mamtain paraBelsm between mner and outer race
c.both d none

. Distance of prone laver from nurface of sarth
2. 0to 100km b.20t0 50 km c3tol00km d10telikm

An elevator i moving up with an acceleration of 4 % m/sec? with a body weighing 15 kgis attached with spring balance. What
is the value in the sprng balance?
a 10 b. 15 20 d 30

Al same heat input and max presauge
a. efficiency of Otto cvele is more than diesel b efficiency of dual cvcle is more than dsesel
. efficiency of diesel cycle is more than Oto d. all the above

Bending stress s (if v 12 the distance from the neutral axis)

3. mversely propomionalto v b, propertional te v
¢. mdependent of v d. none of the above

. Which of ths following is a pyeng statenisnt?
a. Plaster of Pans 15 mads from dolomute, bauxite and msstons.
b Highes: temperatuse is represented by red colour.
¢, In ball beanmg, grease hibncation acts as boundary layer ubncation,
d. Deesel1s abways the most efficient fuel for automobiles.

. Faluenbeis and centigrade are equal at
a. 40 b0 €32 4100

. Micting pomt of ice changeés with
a.increase with presaume b. mcrease with pressure ratio ¢ Both d none
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For 1 cum of firs class Brick Work (metric biick), the no. of bncks required will be
(a)400 (B} 450 (e} 500 (dy 550

Where ordinary Portand cement 15 used, removal of propertics under slabs spanning up to 4.5m may be done {according to BIS 436-1978) after expiry of
(a) 5 days (b) 7 davs () 10 days (d) 15 days

Iri the caleulation of carpet area, the area of comidor and passage of a building will be
(2} mehaded {b) exchuded (e) 40% mchaded (d) 80% incloded

For eanthowork the unit of lead for a distance of 300mis
{a)30m (k) 50mic)60m (d) 100m

For 2 coats white waslung on a coat of prmer to new plaster, the quality of unslaked lime in kg required per sqm area will be
(2320 B3 (=) 30 ()35

Surveyor companees used to meanme the

(a) QB bty WCE (e} FB {d)BB

Widih of Gauges for 2 radhway track (B.G ) in mstre 16

{ay 14235 (b} 1676 (Y1673 (d) 1673
Mach number is the ratio of

{a) menia and gavity force (b)insma & elasic force
(e viscous & memia force  (d) none of the these

The beanng of is kne AB of an equilateral triangie ABC {anti dockwise) is 607, the beanng of line CAis
{a) 90° )18 = () 607 {d} 240

Toughness of Aggregate i detenmuned by
{3} mnpact vahe test {b) crushmg value test
(c) abrasion test (d) shape test

The city Chandigarh was planned by Architect
{a) Frank Liovd Wright {b} Le-Carbousier
{c) Bruce Allospp {d) I L. Durand

I the floor to floor height of 2 bunlding is 3 Smts, numbers of tread will be (height of one niger is | Sem)
{2124 (b)23 (c) 25 dy 22

If the plot area is 3000 m? and F 5.1 is 1.5, then built-up area will be
(2] 250m* {b) 3000 m* {c) 2000 m? () 4500 m*

Wlach is not the prnciple of plannmg?
{a) roomaness (bhaspect () umaty {d}) cmculation

Awports are classified under
{a)residential zone (b mdustrial zone
{e) agricultusal zone (djnone of thess

Ovder of color (Descending) in road tra ffic signal is
{a) Red, Green, Yellow (b} Green. Yellow, Red
{c} Yellow, Green_ Fed (dy Fed, Yellow, Gresn

School Ahead signis

{a) Wammg sign (b} Informatery sign

(c} Regulatory sign {33 Control sign

Pyrarmsds were desygmed in

{2} Mughal Architectuse {b) Egypan Architecturs
{c) Roman Architecture {d) Greek Archatecture

Aggvegate mmpact vahe < 10% categonzed under

{a) streng (b) week forroad sufacmg

{c) exceptionally strong (d} satisfactenly for road surfacing

Thie degres of precision required in survey work mainly depends on the

{a) purpose of survey (b} area to be surveyved
() souree of efmor {d) navure of field

The first ratway lne between Mumbai and Thane was opened in the vear
(231844 () 1853 e} 1854 (d) 1855

Trim command in Auto-CAD is the command of
(a)Draw  (b) Format (e} Modify (dyHelp

Which of the followingis unit of Kinematic Viscosity i 81 System
(a)mésec {b) N-sec'm® () Stokes {d} Poise

A Clinomeater is used for meanring the
(a)slepe (b} dutance ) bevel [d)mone of thess

Least count of 2 Pnsmatic Compass s
(2} 30 min (b} 15 min (¢} 45 min {d} 1 min

The nunemum grade of concrete recommended by 15 4302000
IMI5 (b M0 () M23 (D M30

The first sky scraper building in Mumbai was
() World Trade Centre, Coloba (b} Kalpatarn Heights, Apripada
(¢) Utha Kiran Tardea {d) Fartune Tower, 1.J Road

The Water collected at Bhandup Treatment Plant comies from
(a) Vaitama Dam (b) Tanza Dam () Bhatsa Dam  {d) Badiapur Dam

Sand stone is
(2} sedimentary rock (b) metamorphoc rock () agneous rock (d) voleame reck

The maxumum Bearng Capacity of soil is that of
(adblack cotton soil (o) loose fire sandy soil  {cyhard rock () soft clay sod




GROUP-D

.1. Non-circatrical alopecia is seen in

A Alopecia aerate

B. Autoimmune in etiology
C Pseudopalade

D. DLE

Ans: A

0.2, Direct immunofluorescence is positivie in

A Atopic dermatitis
B. SLE

c Pemphigus

D. Secondary syphilis
Ans: C

0.3.  Shortest acting non depolarizing muscle relaxant
A, Mevacurium

B. Vercuronium




